1. AR Qukaisy

(1) SEL 712
SEHEM 2
e
SHAA Hl&
A 541 100.0
19954 o] 114 21.1
1996~2000%1 134 248
AHds 2001~20054 130 24.0
2006~20101d 124 229
2011 o] % 39 7.2
Aea 447149 34 6.3
e T2 FE71Y 62 11.5
H747149 445 82.3
712430081 ©]73) 69 12.8
FTARAL R Z719(50~2992]) 158 29.2
2714021 1]%h) 314 58.0
5009 € o] 23 4.3
10091 ¢d ©]2~50091 ¢ vk 42 7.8
B 5091 o] 2~100 Y w|wk 42 7.8
1091¢ o]2~5091 ¢l m]wk 134 24.8
5919 o d~102] ¢ mink 73 13.5
5994wt 227 42,0
=27 234 43.3
g3 AEE i o b2
ienlel 9 - o8 62 11.5
=] - 7]7] 163 30.1




26 2014 LI=S8HAI AL

(2) AXHXIE 2=

400
B5() e
BO.0 e e
DB () 4+
200 4 L

167

2 27 Fd 25 T o RN ME M2 S " ©H NS 32 5%

(3) MalHdrH 2

oo, %

20114
M

7%

1995 0[N
AN
2006~20104
23%

2001~2005H
24%




A LS8t 7|28 27

(4) 718 oY Bx

718 RE ARAH 22

w9l %
e 0714 =14 2714
A 100.0 29.2 58.0 100.0
19954 o] 21.1 7.8 9.6 3.7
1996~2000% 24.8 1.5 10.9 12.4
AYd= 2001~20054d 24.0 1.5 5.7 16.8
2006~20%d 22.9 1.3 2.2 19.4
20061 o] ¥ 7.2 0.7 0.7 5.7
A 71 6.3 5.5 0.7 0.0
Aol B F2E A7Y 11.5 3.7 7.4 0.4
v 33714 82.3 3.5 21.1 57.7
50091 ¢ o] 4.3 3.5 0.6 0.2
1009¢] o]d~500 ¢ w]t 7.8 3.7 3.5 0.6
5091 ¢ ©]°4~100 ¢ )%t 7.8 15 5.7 0.6
A=
10999 o]23~5091 < wlgk 24.8 1.8 11.8 11.1
5919 o] d~1091 ¢ mnt 13.5 0.2 3.1 10.2
51 mwt 42.0 2,0 4.4 35.5
(BARE. S 43.3 7.6 11.5 24,2
e g3t =2t 15.2 3.5 4.6 7.0
A Wizhtol e - o5 11.5 0.9 3.9 6.7
=] - 7]7) 30.1 0.7 9.2 20.1




28 2014 LI g8t

=
e
<

00
o

(5) XIE2E HRE 2X

A2s A2 AEA 22

@8 %
100919 | 5099 | 1099 | 59
L | som | o1 | e | el | el | ey
714 o4t - N ] ak
° 50099 | 100939 | 5099 | 109¢) =
ks a1kl n|gk w|qk
A 100.0 43 7.8 7.8 24.8 13,5 42.0
1995 o] 211 3.1 5.0 3.1 5.5 1.3 3.0
1996~20003 24.8 0.2 1.1 2.6 9.2 5.0 6.7
AYAe 2001~20054 24.0 0.4 0.7 1.1 4.4 41 13.3
2006~201013 22.9 0.4 0.6 0.4 5.0 2.8 13.9
20011 o] & 7.2 0.2 0.4 0.6 0.6 0.4 5.2
A 371 6.3 3.5 1.7 0.7 0.4 0.0 0.0
R | ZaE Y 11,5 0.2 3.5 3.7 3.7 0.2 0.2
v 71 82.3 0.6 2.6 3.3 20.7 13.3 41.8
714330081 ©]2) 12.8 3.5 3.7 1.5 1.8 0.2 2.0
=A
"ﬁ? Z719602008)) | 202 | 06 | 35 | 57 | 118 | 31 44
27195021 =]l 58.0 0.2 0.6 0.6 11.1 10.2 35.5
[ Rt 433 2.6 3.5 3.7 10.5 5.9 17.0
e gat i 15.2 15 18 17 3.7 0.7 5.7
g g
A&
enlo] Q- o7 11.5 0.0 0.9 1.1 3.7 1.5 43
U=24] - 7]7) 30.1 0.2 15 1.3 6.8 5.4 15.0




